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(a) Mr. Sameer, a citizen of USA has been coming to

India every. year for 100 days since 2014-15.
Durirg the financial year 201&19, he.earned the
following incomc :

How can he plan his visit in India so that his tax
liability is reduced for Assessmenr Year 2019-20.

Also determine his taxable income. ( l0)

(bt Distiuguish bctween Assessment Year
Previous Year.

and
(5)

OR

Mr. Karnal a citizen of India went lo Canada for
employment purposes on 01.01.2016. He was

70ll (

never out of India in the past- During previous years

2016-17,2017-18, he has been in India for 100 days

every year. He returned to India on a visit on
28.09.2018.

He has eSrned the iollowing income during the

previous year 2018-19 :

Will it be advisable for him to visit India on 02.10.2018.

Determine his taxable income in both the cases.

(15)

(u) ft. yfir, {rqs 6l qrrrR+ 2or4-ls t too Q* * frs
Er qrd rrrfd 3{r {6r * r ffic s{ 2ols-19 + +rFr,

vdi ftq s{rc a{ftfrd d:

P.T.O.
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;rlll
fi.

eir*mo2.qumw*tgmnuq#' md&illiiiFidsii.*riffiwffinxslG!

Particulars Rs.
Prolits from buiness in Australia 3,00,000

(b) Agricultural incomc from Nepal 60,000
(c) Profit fiom business in UK controlled lrom

India 40% is rcceived in lndia 2,00,000

(d) Intcrcst on UK Govcmment Bonds 1,00,000
Prolit on salc of situatcd in India 2,60,000

(f) Pcnsion income receivcd in UK lbr
serviccs rendercd in India l,00,000

(g) Dividcnd rcceived from a comp&ny
rcgistcred in UK 50,000

(h) Profit from salc ofproperty located in
Uganda receivcd in UK 2,50,000

Particulars Rs,
Interest on sit in UK 5,00,000
Profits from business situated in Sri Lanka 8,50,000

r,75,000
Income from house situated in Kolkata 2,40,000

ft-{€r E

(t,) mQtuq t qrqr< t arq 3,00,000

(rs) icrd t fR o* 60,000

(.r) t* t qRa t frqko q-*grq

t arrr (q66 { nox m *ar ?) 2,00,000

(

Income &om agiculture in Nepal



s6 qrm t q(i qrdr d *fir *t q<r r+-or t mR
in+-m q{ 2019-20 + fts i]q-e o-< tq-cr q-q i
qls r ufff qr *rq lrrc t ftrffu qt 

r

(r{) {flTo-+ s{ Brt M st + A-{ i-q frftq r

STeI{f

qr.d * qr{rR^q. ff. o'rra orol.2ot6 6} t-drrr + skc t
m-qrel rg I q6 srft-{ i qrc< * <rrt q* rff rrq t r ffi
sqJ zore -rz, 2ol7-ts * stfi, m 6{ qrt l0o H + frg
qrcd i € I r qa zo.oc.zors * qrca d qrx v< nlt r

g-dt lM q{ zore-rc + A{? ffiR'q-d srq lrFfro fr
*'

4n sn+ ftq oe.ro.zore * qnr 6 qr*r alcr sfu{ *.n r

ffi crs-.n- i scd qt trq snc q,r Mrq 6t r
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Amount h Ru

rp0 p00

(s) qn-r t frcrd ncfr d G-fr q< anr | 2,60,000

(q) qr< { Fqr d Ti +{s} + frs
{+ { t{T ilc nr< g{ 1.00,000

(o) t+ f ff-fn q,ri t cr< anrsr 50,000

(v) t+ t um grrgr { tu'd

tcR6ftfftarq 2,50,000

G-*<q t.
q*iwrwero 5,00,000

rffifl +- frro q-+<rq t arrr 8,50,000

ivm{gfrtsnc 1,75,000

6tf+'rdi+ftnz;arirh*ona 2 ,4 0,000

Prrticuhrl Ofier I
Sa lary 20,000 p.n 20,000 p.m.

DA (formiog part ofsalary) 40% of balic
salary

40% ofbasic sa.lrry

Jllowancc I ,000 D.m. I m,
Ed for $rc. childrcn 400 p.m.
&lucarion
childrcn.

facility pcr Child for tlrec 400 p.m-

(t allowance 1,800 p.m.
Frcility otcar Trarupo( faciliry !o

commutc bcl*.ecn olficc
to rdidence

Mcdical allowancc
Mcdical faciliry

1,500 p.m.

Hc has got lr! trnent
govcrnmcnt hospital

Housc rcnt ellowanc,
in Dclhi, 4200 p.in")

(rent paid by him 4,m0 p.m.

Rcnt frec unfumis hcd accommodation Accornmodation owned
by €mploycr in Dcthi

P.T,O.

(q) $ (r6R qr< vt qrm
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2. R submits following information regarding his salary
income for the previous year 20lg_19:

Off.r fI
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His income from other sources is Rs. 1,50,000. He

has taken a life insurance policy of Rs. 1,00,000 for
his own life for which he is paying a premium of
Rs. 15,000 p.a. The policy was taken on Ol.O4.2Ol4.
He has taken NSC IX Issue of Rs.50,0O0.

What will be his taxable income for both thc offers?
Assisr him in his tax planning. (15)

OR

(a) Mr. Gupta has been getting a salary of Rs. 60,000
p.m. and DA @ l0o/o of Salary (40% forming part

of salary)r. He retires on 30th November, 2018.
He has been givcn the following options :

(i) Monthty pension of Rs. 15,000 p.m.

(1i> ZlYd of monthly pension and Rs. 8,00,000

as ll3d of total commuted pension.

(iii) 1/3n of monthly pension and Rs. 16,00,000

as 2R n of total commuted pension.

Sugges which option is better from tax planning

purposes, Hc does not get any gratuity. (7)

70tt (

(b) Write notes on any two of the following :

(i) Interest free loan

(ii) Transfer of asset to employee by cmployer

(iiilFree lunch/ refreshment facility (S)

R ffi q{ 2ols - te + fts $c+ +d-{ Bnc + Eft t trr'r+lt
rga o<n l:

rtfttvSi

76

E-*<sr Bri6t I 3III5-{ U

tfto, ffi 2o,ooo yfr{r6 20,ooo cfr{l6
Os (+d-{ 6r GRr) Ia +d-{

61 4oyo

{r +d-r'

41 Aiyo

t,ooo qfr{r6 l,o0o cfr{rd
fi-{ q.qt- + frs Freil rrflr 4oo yfrcrd

frE{r 6 !tun 4oo qfrqrd

l,So0 cfrfiE
6,R d SEqr q-mii-dq +

fi-qr€ *
ffq qrqr{rr{

d lEqr

P,T.O.
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{161 qfrT.fi', lrflr

fi-{ q"+ t ftq efr Eqr

qR:+rq rm



frE-<r mn

efrRr SRrrr 3++ T{q.rtt
sre-cm t

yflrq !6cncr +
q-m'r{ fr{rcr rrf,r (ffi +
YrS mr Srrcrt frqr rrqr

fr.clt, a"zoo r&-<r) 4,OOO yfrcrg

ftgm friw vr

$ unrr
ffi+- ffiftr

+RrG-€

{ snqrq

7ott 98 7011
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(iii)

(i)

(ii)

qrft-6 t5lr d. ls,ooo xfrqrd I

z/s (6'qrffrr tw sk n' s,ooPoo rEa 6frts

tsm*vsn-o*sclr

v3 t<, qlR-+, q{T *< t' to,oo'ooo 5 aR}s

trr+ * als <-a * sq t t

I

tl

I

gf,rq t fs' qr *cr< + lM + t 6t{ r[I G-6-ff

irtr<*r3t:frtffiq€tffilr

(i) q'-s 1ffi aat

(ii) Hfffr B( <,.ffi d ffi 61 rRItRuI

(iii) 1F iq< qr Q-s-r'tu-aqn lBut

a-q q}+- t r+ff qrc l.. r,so,ooo t r ss+ !{q+ Sq-{ +
fts nq+ r,oo,ooo d fi-*rffqT frfr ff i r ffi fts m
{. r5d0o qT ffftqq cR s{ ? rar * r dRff oloa.eora d
e rr€ ,t r vs} r.5o,ooo + Brt Nsc x fts r

A+ y<rfr + fts 3ad qr *rq snq wr *rt I :rc6 ql
+q-{r + 3a* narzrar qt r

slerdr

(q) e Um d t oo,ooo yfrqra qr +fi ffir la * r ak
9s @ roz *cr (aox ?.cq qr fr<r) 1 q€ 3s a.qq(,

2sB S iEnfutr *t r v* ffiR{d &-+-s Es lrs

i,

(a) Mr. Sharma lives on the ground floor of his house'

He took a loan of Rs' 5'00'000 @ lZoh p'a' on

01.08.2015 and additional loan ofRs' 5'00'000 @

10% p.a. on 01'04'2016 for the coostruotion of

the ground floor; construction of which is

completed on l5'09'2017' The principal amount

has not been repaid on account of such loan so

P.T.O.

r,soo cfttra'l

{(

(e) Fmfrft<t q 1ffi i qt M frrd:

I

l

I

i

rl

li

1

l

I
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far. Municipal tax paid for the ground floor is
Rs. 8,000 p.a. 

t
Mr. Sharma is planning to build the first floor of
his house as an idenlical independent unit, for
which he will have to pay the same amount of
municipal taxes. He will require a loan of
Rs. 10,00,000 @14%. He is sure that he gan earn
a rent of Rs. 13,000 p.m. if he lets out the first
floor after construction is completed. The
construction can be completed during the previous
year.

Mr. Sharma's net computed income (other than
ilcoooe under the head house property) is
Rs. 5,00,00O for the previous-year 20lg-19. From
the poinl ofview oftax planning, would you advise

Mr. Sharma to go ahead with the constnrction of
the first floor & let it out.

Substantiate your aoswer by computing taxable
income and tax liability for the assessment year

2019-20. (10)

(b) Discuss how the valuatioD of a partly let out and
partly self occupied area wise house property is
determined? (5)

70ll ( ll

OR

Mr. Chaddha (55 years old) owns two self-occupi. :

flats in Delhi. Flat I has a Municipal Valuatiot

Rs. 6,00,000; Fair Rent is Rs. 6,80,000; Standard Rent

is Rs. 6,65,000; Municipal Taxes paid during the year

Rs.5,000; Mr. Chaddha has paid interest ofRs.50,000

during the year for renovation of flat I.

His income under the head other sources during PY

2018-19 is Rs.6,00,000. Mr. Chaddha seeks your

advice on choice ofself-occupied house and his taxable

income & tax liability. (15)

(a) * vrl srv} qt S Tra v( rri * r v*i t 5,oo,ooo

@ 12o/o sfu q{ oroe.aors * *t t s,oo,ooo 6I

srftft.ffi Eur @ lo% yfr <{ rpa * fr-qtq + fr(
oLo4.2ol6 * ftffi Frqi"t ts.oc.zotz al gn i rr+t

His other flat (Flat II) has a Municipal Valuation

Rs. 8,00,000; Fair Rent is Rs. 9,00,000; Standard Rent

is Rs. 12,00,000; Municipal Taxes outstanding

Rs. 24,000; Interest on Borrowed Capital paid by Mr.

Chaddha during 2018-19 Rs. 8,50,000; past unrealized

rent (pertaining to prcvious year 2015-16) Rs. 30,000

is recovered during the year 2018-19.

(

P.T.O.
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t r rs me * ur * frs lrq irn 1o rRr r& 3o'r{
,r'{ I r .ga * fts {.Rqrfufir tn( 6r yrrdra r 8,000

cRq{r I

,ft rrqi \rs qqrr E-fi rort * qq i irc+ qr 6 q-r&

qft-d B-{A d +wa a-{r r} *, ffi nq i-+'
<rnqfuq q't d rqr< rrEr 6r trrdm qr* *rn r gt
tct to,oo,ooo q uU" * aor d sns$rrdr *,t r

B+ qfrt{ I ft s-6 {cA ts,ooo yftcr6 6r fr<rqr oqr

r+-cr * r 3ps q6 frqiv1 Er A+ + qrc Trfr ft-f,
d + ?-dr t r ffi"r ff'Br$ s{ * *<r< En frqr vr
r+-ar * r

,fr rT{ * {a rrnr iftrq fts& s{ eora-rq * fts
t s,0o,ooo (*s asr dtrR-+ ir{f, 3{rq * rdrer)

t r qt ffiffi* ffiq t, wr ilrc * srct d vrft
:ftrfl + ffqflT * qrq sri s-6+ S t-ar6 ti r

vro-a-q q{ 2ot9 -2o * ftq q.( +rq imq *< c-t }q-cr

fr rrom q-f* gr.r* Var ? r

(rs) q-qf 6t fr flmr+, sc t <16{ m} eit sntr-*. rq t
e- afugn *t qR Elr{ scfr qr rato-+ *t fruft
8;qr vmr t I

7Ott 13

STEEIT

ft. ver (ag ss <{) E*ft + A R-irtug;d *d +
qrft-o * r q*c I t Trr€rfuql {tq t o,oo,ooo; gfu(

ft'aqr e. 6,00,000; u&S ftrrqi E 6,65poo; d *
<tq-{ riRcrRfi tr.r 6r g666 q. sooo ft-qr r ft. vqsr

* *c t + Tfto<q * fts cS * at<r< r. so,ooo
qnr Pqr r

r++ irdl c+c (*e u) { rrnvrkor acur+-+
r. B,o0,ooo; sRil fr{qr r. 9,oo,o0o; I}s€ ftrrqr
n l2,oo,ooo; qrRqTfu.5r 6{ iri5.t.ll wt za,ooo; e{
eots-tc * ekm fr. T{Sr ERr lre utm iff rn ar:a

E B,so,ooo; ffi iislR-d fu{S (ffi q{ zors-to
+ tEftil) r. 3o,ooo s{ zore-rc + +{rt T{i frs r

py 2olo-te + +{T r5€ srq rx}dt- * n-m rq-ff
sr:r t'. 6,00,000 r ff. 

=rgsr 
t q-oai srt q{ d vre

g}{ T{ff 6.< q}rc fic sk 6.( +.ril + qR t' sTq-ff

rara *m i r

(a) The following is the Profit and Loss Accounr of
Mr. Amit Gupta for the year ended 20l g-19, who
is engaged in the business of manufacturing
readymade garments.

4

(

I

P.T.O.
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Pr0fit rnd Loss ,Vc for lh. )rrr up lo 11.01.2019

Parliculars
Amounl in

tu.
Particirlars

Amou{t in
Rs,

OpenineStock 5,50,000 By Sales t2,30,000
Purchses 64,59,000 ClosingSlock 6,60,000
Salaics 9,50,000 Rccovery of bad dcbl (Nor

rlloutd dcduclion.anicr)
80,000

Rcnt, Ral.s and Talca t,60,000 M isc.Rc(cipts 45,000
Shffuelfare lxDensos 85,000
Houehold cxpnscs 60,000
Intcrcsl on capital o[ Mr. Amit 20,000
Provision for bad deht 16.500

Cu9om duly I,90.000
Dcprccialion ,,50,000
Paymcnt ofroyalty outsidc India 1,00,000
Nrt Drofit ?4,500

90,15,000 90,15,000

In orma ri n:

(i) Houschold expenses include Medical
Insurancc Prernium of Rs.30,000 paid on

the health insurance of Mr. Amit.

(ii) Depreciation is in respect of Machinery of
Rs. 10,00,000 which was purchased on I 5th

May, 201E, but was installed on 3'd Ocrob€r,

2018. The rate of depreciation is l5% p.a.

(iii) Custom duty was paid as below:

Rs.30,000 on 20th March, 2018

Rs.20,000 on 28'h September, 2018

Rs. 1,40,000 or 3'd Octob€r, 2018.

7011 (
15

(iv) The tax was not deducted ar source in
respect of payment of royalty outside India.

The due date of filing of return,of income is
30.09.2019. Determine the taxablb income of Mr.
Amit for the Assessment Year 2019-20 if he does
not opt for presumptive taxation. Also what
measures you suggest, he could have taken to
reduce his taxable income. (10)

(b) Distinguish between Long term and Short term
Capital Asset. In respect of which asset indexation
is not allowed? (S)

OR

(a) Explain the method of charging depreciation under
the Income Tax Act. What measures do you
suggest should be taken from tax planning purpose
while buying any Planr and Machinery? (i0)

(b) Discuss how an individual can reduce his taxable
liability on the transfer of residential house, being
long term capital asset. Can a company also get
similar exemprion? (S)

(m) a{ zore-te d rrqm Es & irh-d $il cl arq sfrr

aB qrar ffiRrc i, n to+s q.r.e S aA*"r +
aigvfr

P.T.O

t4(

-
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3r.o3.2ote tr6 dd + fts anar in{ gIF +cqr

Eq{q {TEI

d.d
G-a-t!T

{
{rRr

Ed
ffirr **. 5,50,000 F-ff znr 82,30,000

Tcffi 64,59,000 F]furr dq. 6,60,000

td-{ 9,50,000 rq<re ?zq *
s$ (c6-+ s-itfr
* rg{R rffy 80/000

futm, d *< or
4 s,000

c"ffi q'"erq tsd 85,000

Aq €d 60,000

fr. irh( * Efr
lR qIfi 20,000

sniluq Ar *
frv vrsum

ow q& 'r,90,00 
0

]rer6m 1,50,000

qrcr * iIlE( ffi
{ lrrmr 3,00,000

{a aIrI 74,500

90 r15r000 90,t5,000

(
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sRft< qrrq,rt:

(i) +qc-{ + urn-d !q} 30,ooo t6r tBoa fr{r
fffrc{ ff. gfo6 fr p1s *tr v{ trrdm fr.cr
rtqr r

(ii) tew wt ro,oo,ooo d Tim * rerr + * r

u} rs d, 2ols + <tft Ti ff, ift-+ s

qc(rt, 2010 cil rcrRa frqr rrqr qr I T{drq
dq<rs%yfts{tr

(iii) o.'€{ qKA al grrdm frqTsR ft-q rrqr qr:

rci so,ooo, zo qrd zors y{

wi zo,ooo, 20 fttrq< 2oro v{

tqt r,ao,ooo, 3 iffi(l.<, 2o!o si I

(i") qnc * qr6{ tc.d + grrm * idq { +d
.R 6-( Tff q,rel T.rI qr I

inq * ftr{ qka q{+ Efr ftqfr <rtrs so.oc.zorc * r

i{r6-d{ q{ 20le-20 + frc ft. orfi-{ fr fi trq snq
ql ftltrvr +t qft cu qqrqr6q-6 q.mrr< w frq-rq

d t-* t r ilq ycd ?Fr 3qrq !fi+ C ftret d
T6 i["rS 51 frrq qrq d q-q c-d * ftq i vfi-dr

tr

(

l,oo,ooo laau .fft-

,o,roo 
I

P.T.O,
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(rq) dq r,{ *i fif r{ *Rem s+c * A-q sim sq

dfus r fr.{ ffi + ftrr i,4c,.rw { sgqR aff
*? r

5

qEEII

(u) .ne-ot Brftftq + Fftr r.er,jrr{ qr$ 6l+ d frD d
vrgrtg r ftr& rt Rrc *{ ffi * eM rqq
onqd *l g*s h qrBs ft cr, dq-+ + sts +
ftq um qrBv ?

(rs) sqi qi ft r{rcrfr Trn * rqdrir<or q{ \,-fi qk
uc-S 6{ q}a tc-dr si +i qq 6r rrri *, A{r+rR-+

, TfrFtuhA+* cri, wr ffi ffi * lft €ff
madWfi-dffi-ftt?

(a) Explain the provisions relating to taxability of
interest on securities and Iottery income. (g)

(b) Ms. Pellavi (32 years old) is employed as a

manager of a company in Dethi and submits the
following particulars of her income.

P.T,O

, 19
I

Salary Rs.30,000 p.m, Dearness Allowance
Rs.5,000 p,m. (forms a parl of all retirement

benefits). Her cmployer contributes Rs. 50,000 per

annum towards the Nalional P,ension scheme

(NPS) and she herself conrributes Rs. 92,000 p.a.

Her income from other sources is Rs.5,00,000.

She invested Rs.24,000 in Narional Savings

Certificates (IX Issue) and Rs.65,000 in public

Provident Fund with SBI and Rs.4,000 towards

Life Insurance Premium on her own life. She has

invested Rs.30,000 in an annuity plan of LIC
eligible for deduction under 80CCC.

Compute the net taxable income of Ms. pallavi

for the assessment year 2019-20 and advise Ms.

Pallavi whether she and her employer should

reduce their conrribution lo the NpS. (7)

OR

(a) Mr. Madhukar is planning to sell.land owned by

him situated in an urban arca that is bcing used by

his parents for agriculturc. Hc ias recsived a

concrete offer of Rs.50,80,000 on 01.03.2019

whereas the stamp duty valuation is Rs, 60,00,000.

7ott
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He will need to pay brokerag e @2%o. He acquired

this land on 01.03.2006 for Rs. 3,50,000. He owns

only one residential house propert* Advise him

about investment options to sav€ capital gains tax

on the assumption that h€ wants to invest Rs. 30

lakhs in a residential house.

(CII 2005-06: 117 & 2018-19:280) ( l0)

(b) Exptain the provisions relating to gifts received in

money by an individual. (5)

(a,) ft$-d sk ifct sns rr( qrf, d qmxort trft-r
qrEur+' + qrcqr ql r

(rs) {* q-tre (i{g 32 sf) @ t vc'affi + n-srro

* sq t crfra g Bt( sq.ff $q + ffifr( G-{rsr

rqa c'r& i r

ta-a- t so,ooo ffiqr6, Tffi rrflr r'. s,ooo sftcro

(qfr ffigfr m$ er r'o Een *) rrcqr ffi<r
r. so,ooo 6T qt{<F rlqE iim +q-* (qnft{) 6}

qffi ?6-adr * *r cr err' rt t qz,ooo cR s{ +{r"r<

rr& * r rq etat* t se$ inq t. s,oo,ooo * r s€+

I

70u 2l

rqt za,ooo 6r R+sr nSq q-{d ri (Ix wt) i
frq 3tr !. 6s,ooo vtr&sr{ + qrc cfu6 c}G+c s'-s

t qt{ r. 4ooo qa * *<c cr arm ffts ffftqr

{ frqrr vg* lct 3opoo t6t cdir6& fr srffi
+d-{r + fffu ftcr * S soccrc + a-rr q-*& *
ftscr**r

i[trffi s( 2gte-20 + fts S* mr& d {a a-r

qtrq arq t& ga-* 6t 
"k S* c-tr+ d r-ma t ft'

qr q6 sk E-{+ ffErtftr 6} riQw + 3-{-+ ft<r+
q} qq ar+ qrGq r

OT2I'II

(o) fr. rqc-< !r6t *{ q- fud l-{+ Rrf+€ s'-e Tfr 6}

i-q* d qtq-<r q-{ € t, ftFdff sr&r tr+* crfl-fi-dr

ye + frs 6l rt d r r* rs} so,oo,ooo 61 01.o3.

2Ol9 v{ \E6' *s x<n ffm t, q-cfu en gm
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